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QUESTION 1. Consider the following Graph G. Use Dijkstra’s Algorithm and find théminimum spapring tree. Start
from the vertex f.
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QUESTION 2. (6 points) Consider the following Hasse diagram of a poset. Answer the following:
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QUESTION 8. Can we construct a tree with the following degrees : 4,3, 1, 1, 1, 1, 17 Explain
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QUESTION 4, Let D = Zx (The set of all integers). Define < on .-l such that for all ¢, b € D, we have a <biffu = b
for some c € Z*. Convince me that < is not a poseton D.
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QUESTION 5, LetA Z. Definc "=" on A such that for all a,b € 4 we have o™ =5 and only if a — & = 6¢ for
some ¢ € Z. Then "=" is an equivalence relation on A. Find all equivalence classes.
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QUESTION 6. Given the following function f (4 15 2.3 8 6 7)

a) Find F? y-2 ’:'
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b) Find the least positive integer n > | such that f» = J. /V/V A L
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QUESTION 7. (i) What is the meaning of a connected graph? G0 _
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(i) What is the meaning of a complete graph?.
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(iif} Can we construct a graph with 10 véttices such that deg(v)) = 7,deg(v2) = 5,deg(vs) = 5, deg{vs) = deg(vs) =
deg(v(,) =ae = deg(vm) =27 explain
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